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General Instructions :
Read the following instructions very carefully and strictly follow them :

(1) This question paper contains 38 questions. All questions are compulsory.
(it) This question paper is divided into FIVE Sections — A, B, C, D and E.
(it1) In Section—A question numbers 1 to 18 are Multiple Choice Questions

(MCQs) and question numbers 19 and 20 are Assertion-Reason based
questions of 1 mark each.

(iv) In Section—B question numbers 21 to 25 are Very Short Answer (VSA)
type questions, carrying 2 marks each.

(v) In Section—C question numbers 26 to 31 are Short Answer (SA) type

questions, carrying 3 marks each.

(vi) In Section-D question numbers 32 to 35 are Long Answer (LA) type

questions, carrying § marks each.

(vit) In Section—-E question numbers 36 to 38 are Case Study based
integrated question carrying 4 marks each. Internal choice is provided

in 2 marks question in each case-study.

(viii) There is no overall choice. However, an internal choice has been provided
in 2 questions in Section—-B, 2 questions in Section—C, 2 questions in

Section—D and 3 questions of 2 marks in Section—E.
. . . 22 .
(ix) Draw neat diagrams wherever required. Take 7 = - wherever required,

if not stated.

(x) Use of calculators is NOT allowed.
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1. e FieEx+5=03R2x—1=0%"
(A) BEEATE R | (B) FfgiEEAR |
(C) AEAL | (D)  3THfHd 9 8 31h BB |

2. U guehv B ABC, ed A W HHehl 8, ¥ A sin B :i, Al sec BHTAM B

@A) 4 (B) @
© 15 D) ﬁ
3. 04wH
(A) TR TEATE | (B) qUIih T |
(C) ufHIHET® | (D) 3T EETT R |

4. FME n Th TThd T &, AT 8 1 IS I 37eh Tt o} &1 &1 Fha1 & :
A 4 B) 2
© 0 D) 6

5. T o o fore fguma wvfientr < firg-fim arafos 91 8
A x2+2x=0 B) x2+x+1=0
©C) (x-12%2=1-2x (D) 2x2+x+1=0

6. Af gIE ax? +bx+%é;ww—a§iésegc—ﬂr§, TAbHIAAE

1
@) 2 ® 3
1
©) -2 ® -
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SECTION - A

This section consists of 20 multiple choice questions of 1 mark each.
1. The system of equations x + 5 =0 and 2x— 1 =0, has 1

(A) No solution (B) Unique solution

(C) Two solutions (D) Infinite solutions

1
2. In a right triangle ABC, right-angled at A, if sin B = It then the value of

sec B is 1
@) 4 ®) @
© 15 D) ﬁ

3. /0.4isal/an 1
(A) natural number (B) integer
(C) rational number (D) 1irrational number

4.  Which of the following cannot be the unit digit of 8%, where n is a natural

number ? 1
A) 4 B) 2
C) 0 D) 6

5.  Which of the following quadratic equations has real and distinct roots ? 1
A x2+2x=0 B) x2+x+1=0
C) (x-1)2=1-2x D) 2x%2+x+1=0

: 2a .
6. If the zeroes of the polynomial ax? + bx + T}, are reciprocal of each other,

then the value of b is 1
1
@) 2 ® 3
C 2 D 1
© - ® -3
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7. x&&?ﬁﬁ@ (a, —b) a‘ﬁzﬁ% :
(A) a B) -a
©C b D) b

8. <17 3mHfd H, PQ || XY || BC, AP =2 cm, PX=15cm 3R BX =4 cm 8 | 3fg
QY =0.75cm ?, A AQ + CY s 8

(A) 6cm B) 45cm
(C) 3cm (D) 5.25cm

9. femmn2 s AABC ~ APQR, ZA =30°3R 2Q =90° | (/R + /B) &1 oM 8
(A) 90° (B) 120°
(C) 150° (D) 180°

10. <1 Toresi <1 Ueh 91 IBTAT SITAT & | hH § ol Ueh oI 3T <hl ITRIehdT & :

@ 5 ® 3
© 2 ) 1

11. & 5 A H, %5 O a1t Th I W PA 3R PB T ¥RI-W@N 36 TR & § 76
/P =90° IqﬁAB=3\/§ cm%,?ﬁﬂﬁéssarraa‘ﬁa'aﬁ%:

0 B
A P
(A) 3\/2cem B) 6\2cm
(C) 3cm (D) 6cm
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The distance of point (a, —b) from x-axis is 1
A) a B) -a
C) b D) -b

8.  In the adjoining figure, PQ || XY | BC, AP =2 cm, PX = 1.5 cm and BX =4 cm.
If QY =0.75 cm, then AQ + CY = 1

(A) 6cm B) 45cm
(C) 3cm (D) 5.25 cm

9. Given AABC ~ APQR, ZA = 30° and £Q = 90°. The value of (LR + £B) is 1
(A) 90° B) 120°
(C) 150° (D) 180°

10. Two coins are tossed simultaneously. The probability of getting atleast

one head is 1
1 1
@® 5 ® 3
3
© 4 O 1
11. In the adjoining figure, PA and PB are tangents to a circle with centre O
such that ZP =90°. If AB = 3\/5 cm, then the diameter of the circle is 1
0 B
A P
(A 3\/2cm (B) 62 cm
(C) 3cm (D) 6cm
30/6/2 ~ 7|Page P.T.O.
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12. &fe x = cos 30° — sin 30° ATy = tan 60° — cot 60° B, qI
A x=y B) x>y
C) x<y D) x>1,y<1

13. %5 O RHAT5 cm I T Ja o f A weRi Ha wR A Hd 2 ¢
P : Yo AR SRI-T@13 o FH & S i gl 5 cm 3 |
Q : T HHIHR TR T@13 o g = hi gl 10 cm & |
R : me—wﬁﬁwéﬁaﬁaﬁﬁ@5cm3ﬁ?mcm%ﬁm@?ﬁ%|
S : IO I WET BT foig e Bl TE 99 W STet 7 -1 h e 5 em 7 |

A P B) Q
() R D) S

14. & TE 317epid H, g O o1el Th o T/ TS Teh LY@ R | 2x° 1 AH &

(A) 22.5 (B) 45
(C) 67.5 (D) 90

15. 10 m 39T % Teh Ug & MY W I3 Ush AR Ush 1T ! THIM T Teld L <@l 3 | I
T Ug % 91e ¥ 1003 m 1 gl WA, A I AT 3tfw § | H1 ST H0 R
(A) 30° (B) 45°
(C) 60° (D) 90°

16. g 39 el & Teh S o IATUhaH TYT AT h1 Teh I IS HL (ehTetl ST, I
St AR el o AT T FHehTet 7T 3 & ST & 1T B

A 1:1 B) 1:3
©) 2:1 D) 3:1
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12. If x =cos 30° — sin 30° and y = tan 60° — cot 60°, then 1
A) x=y B) x>y
©) x<y D) x>1,y<1

13. For a circle with centre O and radius 5 cm, which of the following
statements is true ? 1

P : Distance between every pair of parallel tangents is 5 cm.

Q : Distance between every pair of parallel tangents is 10 cm.

R : Distance between every pair of parallel tangents must be between
5 cm and 10 cm.

S : There does not exist a point outside the circle from where length of
tangent is 5 cm.

A P B) Q

©) R M) S

14. In the adjoining figure, TS is a tangent to a circle with centre O. The
value of 2x° is 1

(A) 22.5 (B) 45
(C) 67.5 (D) 90

15. A peacock sitting on the top of a tree of height 10 m observes a snake
moving on the ground. If the snake is 10\/3) m away from the base of the

tree, then angle of depression of the snake from the eye of the peacock is 1
A) 30° (B) 45°
(C) 60° D) 90°

16. If a cone of greatest possible volume is hollowed out from a solid wooden
cylinder, then the ratio of the volume of remaining wood to the volume of

cone hollowed out is 1
A 1:1 B) 1:3
€ 2:1 (D) 3:1
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17. 3¢ B 3Tl o1 ageish 10 TR HIL 3R AL 1 AN 25 8, 1 37 AThal o AL 37N

18.

19.

20.

ek ShAT: &
(A) 12 3R 13 (B) 13 3R 12
(C) 10315 (D) 15310

Ffe srfrera faenfial 9 80 T & 52 37 g fru &l
(A) 52T HAThSI HT AT R | (B) 52 3 HThSI T HIETH 7 |

(C) 52 3TTheSI I TET ¢ | (D) 52 7 3Mihel i HuT 7 |

e : w3 TE 19 @1 20 TRk W Th ARGRU (A) & uvEI T o (R) fen
e i e e e

(A)  AH (A) T TR (R) THI T & 3R b (R), TR (A) 51 90T SR AT B |

(B) IANHAA (A) TUT T (R) GHI T &, T4q b (R), JIMhA (A) i It =men
TEHA 2 |

(C) HAMTHT (A) T &, 9T b (R) FHAE |

(D) AR (A) FE &, T T (R) HAE |

AP (A) : T AT T&A3A x MW y (x < y) & @, HCF(x, y) = x 3R
LCM(r, y) =y & |

T (R) : HCF(x, y) < LCM(x, y), 518 x, y & TTghd T ¢ |

TTHT Uheh o Teh JIIT H
FHET (A) : T E, : 3 9 HH H&AT 1 A€ &H1 a1 51 E,, 1 3 & 3A(Reh T 61
ITH BT I T ¢ |

& (R) : ¢ & g E 3R F & &, @ P(E) + P(F) = 1.
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17.

18.

19.

If the mode of some observations is 10 and sum of mean and median is 25,

then the mean and median respectively are 1
(A) 12and 13 (B) 13 and 12
(C) 10 and 15 (D) 15and 10

If the maximum number of students has obtained 52 marks out of 80,

then 1
(A) 52 1is the mean of the data. (B) 52 is the median of the data.
(C) 52 1s the mode of the data. (D) 52 1s the range of the data.

Directions : In Question Numbers 19 and 20, a statement of Assertion
(A) is followed by a statement of Reason (R).

Choose the correct option from the following :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) 1s false.
(D) Assertion (A) is false, but Reason (R) is true.

Assertion (A) : For two prime numbers x and y (x <y), HCF(x, y) = x and
LCM(x, y) =y. 1

Reason (R) : HCF(x, y) < LCM(x, y), where x, y are any two natural

numbers.
20. In an experiment of throwing a die, 1
Assertion (A) : Event E, : getting a number less than 3 and Event E, :
getting a number greater than 3 are complementary
events.
Reason (R) : If two events E and F are complementary events, then
PE) +PF) =1.
30/6/2 ~ 11|Page P.T.O.
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21.

22.

23.

24.

25.

Qs -9

TEEUS U 5 A TY-ITA TS | T T H 2 3F 3§ |

aﬁa@%ﬁ,%:%aﬂrmmzzcm% | firg i f6 Bryst ABC w6

TufgeaTg Py |

A

B C
Teh Aot T 1S & T T 5 T 100 deh T&ATE 39 ThR 31fhd B, Toh Tcdeh TS T Teh AT
&A1 3ifRd Bl | Teh 1S AT THehTell STl & | ITRIhdl F1d <hifT ok HehTet 71T 1€ W

(i) T U1 o HEAT 3Afehd 7 |
(i) Uk 2-31h1 G 3ifehd 2 |

(a) Tt aefiertor feema =1 isrordi fofer & gt Shifse

101x + 102y = 304
102x + 101y = 305
A4

(b) Tk IV & Tk JH T, TSI IV B HIT A 50° 3ferek 7 | 39 fRafaq I, o =l
1ot Igeh st T/ 1 sk shIfTT 37T Icdieh <hI07 <h1 {9 AT <hIfTT |

(a) IlcasecO+btanO=mddMbsecO+atand=n
g, dl fag Fifsw ik a2 + n2 = b2 + m?
AYAl
(b) HIHHHRT sin2A + cosZA = 1 T TINT Hish, g T fh tan2A + 1 = sec2A

2 | 37d: tan A T A J1d shifog, STafeh secAzgé, STET A Teh =TI 7 |

forg <iIfST Tob foig P, 11 feigati A(7, 1) 3R B(3, 5) § HWGTEY 2, 1 ¥, 3I6eh! hI1C 8
2 Ifh B |
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SECTION - B
This section has 5 very short answer type questions of 2 marks
each.
D AD AE _
21. In the adjoining figure, BD - EC and ZBDE = ZCED, prove that AABC is
an isosceles triangle. 2
A
D E
B C

22. A bag contains cards which are numbered from 5 to 100 such that each
card bears a different number. A card is drawn at random. Find the
probability that number on the card is 2

(1) a perfect square
(11) a 2-digit number

23. (a) Solve the following pair of equations algebraically : 2
101x + 102y = 304
102x + 101y = 305
OR
(b) In a pair of supplementary angles, the greater angle exceeds the

smaller by 50°. Express the given situation as a system of linear
equations in two variables and hence obtain the measure of each

angle. 2
24. (a) IfasecO+btanO0=mandbsecO+atan6=n, 2
prove that a2 + n? = b2 + m?
OR

(b) Use the identity : sin®A + cos2A = 1 to prove that tanZA + 1 = sec?A.
Hence, find the value of tan A, when sec A = 3 where A is an acute

angle. 2

25. Prove that abscissa of a point P which is equidistant from points with
coordinates A(7, 1) and B(3, 5) is 2 more than its ordinate. 2

30/6/2 ~ 13|Page [ElZE P.T.O.
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TG H 6 AY-SHIATF T | Th T H 3 3H § |

-9 3
96. (2) RrgHfmfy. sd=2csB o0

sind — 2 sin30
AYAT

2 — (x2 - 1)2

(b) T 7T & 6 sin O + cos 6 = x ®, g I T sin’6 + cos?® = o

27. & TS T H, O % a1l g9 W TP 3R TQ & wei-@rd § | afe L0PQ = 15°
/PTQ =0 &, @ sin 20 =T 4 JTd SHIfT |

28. (a) Taghifefer\/5 wh smufog aen g |
GECH|
(b) HMIp, q, r A fafirs 1 Tl § |
A HNCRG p - q- ¢+ q Th WIST T 8 AT 7] |
AT, Teh IeTew0 Sifore foey 3 fafira st senadi p, g, r & fow
() p-qr+1THISIHEEAR |
() p-q-r+1THAASTTEAE |

29. UG q(x) = 8x% — 2x — 3 Ih A HITWT | IA: Th FgIE FTA hifaC, SFehT T2h
IR, q(x) b DI H 2HAE |
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26.

27.

28.

SECTION - C

This section has 6 short answer type questions of 3 marks each.

cos 0 — 2 cos30

(a) Prove that: Sind — 2 sin%0 +cot 6 =0. 3
OR
2—(2-1)2
(b) Given that sin 6 + cos 6 = x, prove that sin®0 + cos?0 = 42—L 3

In the adjoining figure, TP and TQ are tangents drawn to a circle with
centre O. If ZOPQ = 15° and ZPTQ =0, then find the value of sin 26. 3

(a) Prove that \/E) 1s an irrational number. 3
OR
(b) Letp, qand r be three distinct prime numbers. 3

Check whether p-q-r + q 1s a composite number or not.

Further, give an example for 3 distinct primes p, q, r such that

(1) p-q-r+1isacomposite number.

(i11) p-q-r+11isaprimenumber.

29. Find the zeroes of the polynomial q(x) = 8x% — 2x — 3. Hence, find a

polynomial whose zeroes are 2 less than the zeroes of q(x). 3

30/6/2 ~ 15|Page [ElZE P.T.O.
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30. S shifau fos e gefiertor ferm @vra 2 1 928
x—2y+4=0,2x—y—-4=0

I 1A 7, T AT G 38 §A 1T |

31. = feg A, 1), B, 2), C9, 4) 3 D(7, q) Th FHIR g4t ABCD % ¥ &, @ p 31 q
% O T ShiToT | o8 +ft Sif shifsTe fop o o2 awiae siquds weh 37 & a1 e |

ECLCI |
HEE N4 F-ITHI T E | TS T H 5 IH & |

32. fr=fafaa stfws, T soTmh o forfira sTedl T & et T o el o1 S e 8
R AT [0-2(2-4|4-6|6-8|8-10| A
TR TS | 10 60 | q 5 | 120
aﬁmﬁwmﬁ Al p 3R q & A 1 HITT |

33. (a) I, 65 m =TH H1 Th JATHR Tk [GQTET 71 3, EH AB TH 6 ¢ |
P

&)
Tk 1 EHT T T Toig P 98 Th oSl GR 39 Jeh ST STHT & Toh A | P <1 g4,
B ¥ Phigli ¥ 35 m 31fuss &1 | forg P <1 gli fargati A 311 B & 37 i |
HAYAT

(b) p 1 =FaH TH Fd Shifere frees fete fgama afientor 22 — 2(p + Dx +p2=07%h
T Afereh &1 | 37d: 39 YehR T fegera Tefientor o ue ot 31 <R |

34. Tle o T, T = 7ot 4fet o1 gl R | ot fora, St = o o o femmn g

<{) ..

| s
‘__ 105.6 mm

r.

SISEIETTY 3ﬁltﬂ-‘e|crcueh|{ T T SITE 4.2 mm 3 | Ffe Teh IEEThR 9T shl 97eTs 2.8 mm
3R ot Ufe 1 eTE 105.6 mm &, 1 39 UfIeT T St IR &F%e 1d I |

5-‘
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30. Check whether the following system of equations is consistent or not.
If consistent, solve graphically
x—2y+4=0,2x—y—-—4=0 3

31. If the points A(6, 1), B(p, 2), CO, 4) and D(7, q) are the vertices of a
parallelogram ABCD, then find the values of p and q. Hence, check
whether ABCD is a rectangle or not. 3

SECTION -D
This section has 4 long answer questions of 5 marks each.
32. Following data shows the number of family members living in different
bungalows of a locality : 5
Number of Members 0-2/2-4|4-6|6—-8|8—-10|Total
Number of Bungalows | 10 p 60 q 5 120
If the median number of members is found to be 5, find the values of p and q.

33. (a) There is a circular park of diameter 65 m as shown in the following
figure, where AB is a diameter. 5

A é B
An entry gate is to be constructed at a point P on the boundary of the
park such that distance of P from A is 35 m more than the distance
of P from B. Find distance of point P from A and B respectively.
OR
(b) Find the smallest value of p for which the quadratic equation

x%2 — 2(p + Dx + p2 = 0 has real roots. Hence, find the roots of the
equation so obtained. 5

34. On the day of her examination, Riya sharpened her pencil from both ends
as shown below : 5

<{) .

/’—2.8 mm
105.6 mm |

™ >
The diameter of the cylindrical and conical part of the pencil is 4.2 mm. If
the height of each conical part is 2.8 mm and length of entire pencil is

105.6 mm, find the total surface area of the pencil.
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35. 14 cm YST 9Tl Th 319 T o Th Holsh J SS1-H-FT Th I GG L (HehTell 1T 7 |
S 31 T TTAH 3TN 6T &bt 71d hITT | (nzz—famxlgzz.zwwﬁnai |)

Qs -

THGUE § 3 ThTUT TR TG T & | T T 4 37 3 |

36. dieh Wl fead TR S o 1T, Ueh TRet - ¢ &1 o 316 Ueh Thichd Heslicl HaH
o TTY 3ATS o T T 2o R fepaat S fop i ot o femmam e 2

ﬂﬂ’-ﬁ%'!]%nn-imh

P <

D (D) (C

Fa

210°-240" 64m-73m

2 —_— :
3 1 el ofiadl oF <A1 TETS 400 m B 3R T 3ol oF el M @ 7.6 m el & |
T AT oh IER T, =1 T91 b I, T FE hl STTUTM oh TAF & ST |
() Bl o e a7 7

(i) Seff o ot wivaTs, =hef) o ol wieTE § femer JTies § 2

(ii)) (a) TH TS % [T FIH Hd 5T, Th BH - Tgcil B8 o H Th-Teh TR
TR | ©T G 3 <hl T8 %ol gll T ShITT |
JAYAT

(i) (b) TH BH A o =Tf A o & G Tceh H Tsh—Teh Fehd HTAT | B gRI o
17T Tt gft 1A HIT |
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35. From one face of a solid cube of side 14 cm, the largest possible cone is
carved out. Find the volume and surface area of the remaining solid.

22
(Use =" \/5 = 2.2) 5

SECTION - E

This section has 3 case study based questions of 4 marks each.

36. In order to organise, Annual Sports Day, a school prepared an eight lane
running track with an integrated football field inside the track area as

shown below :

ﬂﬂ’-ﬁ%'!]%nn-imh

P <

) (1) (L

210-240" 64m-73m

Li
L&
L
L7

/
fiid

The length of innermost lane of the track is 400 m and each subsequent
lane is 7.6 m longer than the preceding lane.
Based on given information, answer the following questions, using concept

of Arithmetic Progression.

(1) What is the length of the 6th lane ? 1
(11) How long is the 8tk lane than that of 4t lane ? 1
(111) (a) While practicing for a race, a student took one round each in
first six lanes. Find the total distance covered by the student. 2
OR
(111) (b) A student took one round each in lane 4 to lane 8. Find the total
distance covered by the student. 2
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37. TORIA H fEd T 31 T g <kl weE oSt wimt 8 S 58 m e S WEE ¢ |
TSI &9 H, Teh B - Teh TG HIE 1 FHHIV fohT 37X $HhT ITANT hich Lo
3T I T TS A BT =Tedl & |

394 ¢ ¥4I § frfeiaa feofort e i

feafa-1:

T A T, S SR Y 8003 m b1 gt W 2, fd % ¥ 1 3= v 60° TR AT R |
e - 11 :

M B H, S 3R 40 m 1 gt W g, Ffd o MW T I=13 10T 30° =T ST & 3K
qfd 1 o SHaTs 240 m, e B 61 gt 3 =g oft afirfora 7, arft St 2 |

IR FET o SR T, e w41 & I v

() feafad— 1= sm@ () i werrar @ fsfa Shifse |

(i) Teafa — 11 =1 3 (o) <6 geran 9 fsfua Hifsw |

(i) (a) ITUR I BISHL Gfd ! SATg ! TUET i 3R feafa — 1 6 Fg=rar 9

TR Gigd SHars oft J1d Hi |
AL
(i) (b) Tfd @ fag B (feafa — I1) =1 &S g8 3R tan o 1 7F F1d HRT, &l
fog B 9 4fd & SMaR & MY H1 A RO R |
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37. The Statue of Unity situated in Gujarat is the world’s largest Statue
which stands over a 58 m high base. As part of the project, a student
constructed an inclinometer and wishes to find the height of Statue of
Unity using it.

He noted following observations from two places :
Situation-1:

The angle of elevation of the top of Statue from Place A which is 80\/5 m
away from the base of the Statue is found to be 60°.

Situation -11:

The angle of elevation of the top of Statue from a Place B which is 40 m
above the ground is found to be 30° and entire height of the Statue
including the base is found to be 240 m.

Based on given information, answer the following questions :

(1) Represent the Situation — I with the help of a diagram. 1
(11) Represent the Situation — II with the help of a diagram. 1
(111) (a) Calculate the height of Statue excluding the base and also find
the height including the base with the help of Situation — 1. 2
OR

(111) (b) Find the horizontal distance of point B (Situation — II) from the
Statue and the value of tan o, where o is the angle of elevation
of top of base of the Statue from point B. 2
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38. 3T 4 TH HH-FHH GlE AN 70 m S 107 37T 6 €4 H 7 | 98 39 Adgd W
s foig P iRt 38 YRR i Wit B fawifora st 2 76 ZPAB = 30° , S & e &
T TP 1 @RI TR 8, O e H1 5 2 |

0T I § 381 3T o Ug & e, 91T [T § AT IMY 37T 9T 11 H, 384 §at 31T |
ITIE AT o IMER T, =1 1 o I G -

(i) /POA®IHTFIL ?

(i) T R IR I o1E TN & FoTT 3TTarvarh R =hl e 1 <HIfT |

(iii) (a) T & T 37 % U % T SIIC T &, IHhT &THA AT ShioTT |
AYAT

(iil) (b) &= III & IR % §1S T o [T 3TTEvTeh dR i T8 ;T I |
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38. Anurag purchased a farmhouse which is in the form of a semicircle of
diameter 70 m. He divides it into three parts by taking a point P on the
semicircle in such a way that ZPAB = 30° as shown in the following
figure, where O is the centre of semicircle.

In part I, he planted saplings of Mango tree, in part II, he grew tomatoes
and in part III, he grew oranges. Based on given information, answer the
following questions.

(1) What is the measure of ZPOA ?
(1) Find the length of wire needed to fence entire piece of land.

(111) (a) Find the area of region in which saplings of Mango tree are
planted.

OR
(111) (b) Find the length of wire needed to fence the region III.
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